50005 8H23H(K) *8H23H(7K) 1455 =

HER FERZ | ER 7% FHER FEERA | FER 175
it 07:05 | H&R= ABRiEH PN 07:38 il 2
2% 08:04 i ABrAEE ABrAEH 08:31 i R FTEER
REFTEER | 09:23 ] ABRiEH PN 10:00 =297 i
Fix 10:40 =297 ABRAEH ABrAEH 11:21 EE REOTEER
REFRTEER | 12:13 ] ABRigH PN 12:50 =297 i
i 13:30 =297 ABRAEH ABrAEH 14:11 EE REOTEER
REHTEER | 15:03 ] ABRiEH PN 15:40 =297 i
Fix 16:20 =297 ABrAEH ABrAEH 17:01 5 REOTEER
REFTEER | 17:53 ] ABRiEH PN 18:30 =297 i
Fix 19:19 =297 ABRAEH ABrAEH 20:01 5 REOTEER
50005 8H24H(XK) X8H23H(7K) 145K =
HER FERZ | 1ER 7% HER FERA | ER 7%
RERTEER | 06:20 i ABrAEH PN 06:59 i BEOTEER
I Eicl=E7m) 08:29 |H&NR= ABRiEH PNLiEs 09:01 il BEOIEER
BEOfEER | 17:57 =G ABRiEH PN 18:37 |BAER= HAEHRR
JFErEEEO 19:46 G ABrAEH PN 20:20 29T FiK
Fix 21:06 =297 ABRiEH PN 21:49 i BEOIEER
RERTEER | 22:33 G ABrAEH PN 23:15 29T FiK
Fix 24:10 il JFEgEZO




50005 8H25H (&) X8H23H (7K) 145K =
AR FERZ | ER 7% AR FEERA | FER 175
it 07:38 | H&EH= ABRiEH PN 08:11 il I Eicl=ge7m)
NFicy: 127 m) 08:46 5aE ABrAEE ABrAEH 09:20 =217 FiK
i 10:00 =297 ABRiEH PN 10:41 i BEOTEER
EERTEEHR | 11:33 i ABRAEH ABrAEH 12:10 =297 Fi5
i 12:50 =297 ABRigH PN 13:31 i BEOTEER
SEFRTEEHR | 14:23 i ABRAEH ABrAEH 15:00 =217 Fi5
i 15:40 =297 ABRiEH PN 16:21 i BEOTEER
EERTTER | 17:18 i ABrAEH ABrAEH 17:57 |BE4 HAEHRR
IEicl==g7m) 19:06 ] ABRiEH PN 19:40 =297 i
Fix 20:29 =297 ABRAEH ABrAEH 21:13 EE REOTEER
50005 8H26H(%) X8H23H(7K) 145K =
HER FERZ | 1ER 7% HER FERA | ER 7%
TELEER | 05:58 5 FiK
i 06:19 =217 ABRiEH PN 07:01 il BEAEEN
EEHRTEER | 07:53 i ABRiEH PN 08:30 =217 FiK
i 09:10 =217 ABRiEH PN 09:51 il BEAEER
REFRTEER | 10:43 i ABRiEH PN 11:20 =217 FiK
Fix 12:00 =217 ABRiEH PN 12:41 i BEAEEN
REFRTEER | 13:33 i ABRiEH PN 14:10 =217 FiK
Fix 14:50 =247 ABRieH PN 15:31 il BEOTEER
BEGEER | 16:23 i ABRiEH PN 17:00 =217 FK
Fix 17:40 =247 ABRieH PN 18:21 i BEOTEER
BEHIEER | 19:09 i ABRiEH PN 19:48 =217 FK
i 20:40 =247 ABRieH PN 21:25 i BEOTEER
EERTEER | 22:20 i ABRiEH PN 23:00 =247 FiK
Fix 23:55 3G picts]




50005 8H27H(H) X8H23H (7K) 145K =
AR FERZ | ER 7% AR FEERA | FER 175
i 05:04 il i
FK 05:25 &E ABrAEEH ABrAEH 06:15 i FiK
i 07:09 =217 ABRiEH PN 07:51 i BEOTEER
EEFIEER | 08:43 i ABrAEHE ABrAEH 09:20 =217 Fi
i 10:00 =217 PNz PN 10:41 i BEOTEER
EERTEEHR | 11:33 i ABrAEHE ABrAEH 12:10 =217 Fi
i 12:50 =217 ABRiEH PN 13:31 ] BEOTEER
EEFRTEER | 14:23 i ABrAEH ABrAEH 15:00 =217 Fi
i 15:40 =217 PNz PN 16:21 i BEOTEER
ZERTEEHR | 17:13 i ABrAEHE ABrAEH 17:50 =217 Fi
i 18:30 =217 ABRiEH PN 19:13 e BERTEER
BERTEER | 19:57 G ABrAEH NS 20:36 =217 i
i 21:26 i ABRiEH PN 22:15 =217 i
Fix 23:10 =G ABrAEH NS 24:00 = BEFEEN
50005 8H28H(H) X8H23H(7K) 145K =
HER FERZ | 1ER 7% HER FERA | ER 7%
TELEER | 06:04 i FiK
i 06:21 =297 ABRiEH PNLiEs 07:03 =297 i
FiK 07:45 =297 ABrAEH PN 08:35 29T FiK
i 09:20 =297 ABRiEH PN 10:01 il BEOEER
REFRTEEH | 10:53 G ABrAEH PN 11:30 29T FiK
Fix 12:10 =297 ABRiEH KBriEH 12:51 il BEOIEER
RERTEER | 13:43 G ABrAEH PN 14:20 29T FiK
i 15:00 =217 ABRieH PN 15:41 i BEOTEER
BEGEER | 16:33 i ABrAEE KBrigH 17:10 =297 FK
Fix 17:50 =217 ABRieH PN 18:31 il I Eicl=E7m)
JFEgEEEO 19:09 i ABrAEE KBrigH 19:47 =297 BEFTEER
EBEFEER | 20:33 il ABRiEH PN 21:12 =297 i
FK 22:06 =297 KBRiEH RBrigH 22:49 i BEFTEER




50005 8H29H(X) *8H23H(7K) 1455 =

HER FERZ | ER 7% FHER FEERA | FER 175
EBEFTEER | 06:20 i ABRiEH PN 06:59 ] BEOTEER
NFicy: 127 m) 08:29 | H&HR= ABrAEE ABrAEH 09:01 i R FTEER
BEFEER | 17:57 i ABRAEH ABrAEH 18:37 |BER= HAEHRR
IEicl==g7m) 19:46 ] ABRigH PN 20:20 =297 i
Fix 21:06 =297 ABRAEH ABrAEH 21:49 EE REOTEER
REFTEER | 22:33 ] ABRiEH PN 23:15 =297 i
Fix 24:10 i il
50005 8H30H(K) X8H23H(7K) 145K =
HER FERZ | 1ER 7% HER FERA | ER 7%
i) 07:38 | H&ER= ABrAEH PN 08:11 i I Eicl-=7m)
I Eicl=E7m) 08:46 i ABRiEH PNLiEs 09:20 =297 i
FiK 10:00 =297 ABrAEH PN 10:41 i BEOTEER
BERTEER | 11:33 i ABRiEH PN 12:10 =297 i
FiK 12:50 =297 ABrAEH PN 13:31 i BEOTEER
BEFTEER | 14:23 i ABRiEH PN 15:00 =297 i
FiK 15:40 =297 ABrAEH PN 16:21 i B OTEER
BERTEEN | 17:18 i ABRieH KBriEH 17:57 |B&ER= HAEHRR
JFEgEEEO 19:06 i ABrAEE KBrigH 19:40 =297 FK
i 20:29 =217 ABRieH PN 21:13 i BEOTEER




